
1 2

www.saebo.com/saebostep

1 2 3
Insert proper screw and washer 

into eyelet on your shoe.
Stabilize the head of the 

screw with your finger while 
securely twisting the Eyelet 

Hook with other hand.

Select screw length that is right 
for your shoe. EYELET 

HOOK KIT

(2) Eyelet Hooks
(2) 5/16” screws
(2) 1/4” screws
(2) 3/8 screws

(2) washers

1 2 3
Insert proper screw and washer 

into eyelet.
Stabilize the head of the 

screw with your finger while 
securely twisting the Eyelet 

Hook with other hand.

www.saebo.com/saebostep

EYELET 
HOOK KIT

(2) Eyelet Hooks
(2) 5/16” screws
(2) 1/4” screws
(2) 3/8 screws

(2) washers

1
Select screw length that is right 

for your shoe. 



5 64
Position the open end of 

the Eyelet Hook toward the 
front of the shoe.

Attach Front Cord to Eyelet 
Hooks as shown.

Wind the dial by turning clockwise 
until the Front Cord is tight and 

you have the lift and angle desired.

4

European Healthcare & Device Solutions (Ireland) Ltd.
info@europeandevicesolutions.co.uk
www.europeandevicesolutions.co.uk

Australian Sponsor:
Ausmedic Australia Pty Ltd

Unit 3, 3 Basalt Road Pemulwuy NSW
2145 1300 473 422

Performhealth.com.au

       Saebo, Inc.
2459 Wilkinson Blvd., Suite 120-B 

Charlotte, NC 28208

888-942-5751  
sales@saebo.com
www.saebo.com

       Saebo, Inc.       Saebo, Inc.

5 64
Position the open end of 

the Eyelet Hook toward the 
front of the shoe.

Attach Front Cord to Eyelet 
Hooks as shown.

Wind the dial by turning clockwise 
until the Front Cord is tight and 

you have the lift and angle desired.

European Healthcare & Device Solutions (Ireland) Ltd.
info@europeandevicesolutions.co.uk
www.europeandevicesolutions.co.uk

Australian Sponsor:
Ausmedic Australia Pty Ltd

Unit 3, 3 Basalt Road Pemulwuy NSW
2145 1300 473 422

Performhealth.com.au

       Saebo, Inc.
2459 Wilkinson Blvd., Suite 120-B 

Charlotte, NC 28208

888-942-5751  
sales@saebo.com
www.saebo.com

       Saebo, Inc.       Saebo, Inc.


	Eyelet_Hook_Kit_Side1
	Eyelet_Hook_Kit_Side2



